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Q.No: 1 A coin is tossed two times. What is the probability that both times heads appeared, it is given that at least one time head appeared?
2444114

T Rad F1 < aR IO 1 7| S 1 WG § fF I aR & Ue g, g8 foan mn § 5 79 ¥ 79 1@ SR i ude g
2

3

win

[N

W

(SRS SRR
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1

4
Correct Ans : B
Subject : Maths

Q.No: 2 Three cards are drawn successively, without replacement from a pack of 52 well-shuffled cards. What is the probability that the first two cards drawn are numbered cards and
2444120 c5rd drawn is a face card?

52 3} aRE A fAad U oo & 9 § AR ] oA, dIF ol wite T e ) 81 e 53 miied § 6 Re e ugd € o Seifdd ara o 81 $R AR e wan uwn v AgR1 arar
148

995

148
995

226
1105

226
1105

148
1103

148
1103

126
1105

126
1105

Correct Ans : D

Subject : Maths



Q.No: 3 A person forgot the last two digits of his five digits ATM PIN. If he randomly enters the last two digits after correctly entering the first three, then what is the probability of ente
2444136 correct PIN?

TF TR AT U 3P & T A F offam &) i @ Tl AfE 9% URd i B T €01 A o T F 918 aefRss v A oifon & ot A vaw v 7, A e O &of A Y wifdisan @ @2
1

99
A
1
99
1
90
B
1
90
1
100
C
100
D
2
99

Correct Ans : C
Subject : Maths

Q.No: 4 Out of 6 different consonants and 4 different vowels, how many words of 2 consonants and 2 vowels can be formed, if no letter is repeated?
2444141

Tl B &R eRmT T S 7, < 6 A o R 4 Rt Wi & A 2 oo ok 2 Wl F e Weg o Idhd 82

1880
A

1880

2210
B

2210

2160
C

2160

2350
D

2350

Correct Ans : C
Subject : Maths

Q.No: 5 A number lock on a suitcase has 4 wheels each marked with 10 digits from 0 to 9. If the opening of the lock is a particular sequence of four digits with no repeats, how many s
2444147 sequences will be possible?

TP FEFHd W TF 7R @F H 4 IR g §, S ¥ 7l R0 A 9 9% & 10 3iF 30 §1 Al a1en Frel IR il 31 e Ry o1 §, Rrad o1 3gva g1 8, @ W fvas o va g

9999
A

9999

10000
B

10000

2880
C

2880

D 5040



5040
Correct Ans : D
Subject : Maths

Q.No: 6  There are 10 people among whom two are females. Find the number of ways in which they can sit around a circular table so that there is exactly one male sitting between the
2444148 femgles,

10 &1 € forTd <) afRend ¥1 I altl Bt T 1d Y ol 4 T qaeR B9 & 9RT SiR 96 9 § i 41 afgensi ¥ 9 e 1o 73 ST 1

40320
A

40320

5040
B

5040

80640
Cc

80640

10320
D

10320

Correct Ans : C

Subject : Maths

Q.No: 7 There are eight points on a plane of which four are collinear. How many straight lines can be drawn using these points?

2444158

T 0 W 16 f3g ¥ 8 F 9R W 1 37 [Sgsh o1 Swn o= frat Wi g i 1 g 32

30
A

30

29
B

29

23
c

23

28
D

28

Correct Ans : C
Subject : Maths

Q.No: 8  There are 6 people seated in two rows (3 in 1 row) and there are two types of newspapers. Each row can be read any of the two newspapers but it must be different from the
2444160 oy, In how many ways the newspapers can be read?

3 Ufemt (o & v ufda) & 6 A 93 § SR < UHR F TR 0F ¥ UdS Ufdd 3 WHER O § F 1 oft ug et 7 Afe a8 gt ufda § srem S wiftn WueR W &) fha WeR d ugt &

1440
A

1440

3256
B

3256

2460
C

2460

2888
D

2888

Correct Ans : A



Subject : Maths

Q.No: 9  There are 2 red shirts, 3 black shirts, 3 white trousers and 2 blue trousers. In how many ways a shopkeeper can arrange these things so that all the black shirts come togethei
2444168 the blue trousers come together?

2 I B, 3 DAt HE, 3 Whe UaeH IR 2 Al Iaqd &1 TP gPFER 37 el & fas adie! § ogafud o) 9adl & & at ol writel te ary o og SR ot il gaew e g o wmee

30240
A

30240

60480
B

60480

50720
C

50720

25360
D

25360

Correct Ans : B
Subject : Maths

Q.No: 10 The algebraic sum of the deviation of 45 observations measured from 20 is 5.Find the mean of the observations.

2444171
20 & At 75 45 V&0l F fagem o1 SomfRia A 5 ¥1 el 1w gid S
18.22
A
18.22
20.11
B
20.11
19.33
C
19.33
21.11
D
21.11

Correct Ans : B

Subject : Maths

Q.No: 11  The mean of a group of 44 observations was found to be 68. Later on, it was found that four observations were incorrect, which was recorded as 12, 15, 19, and 18. Find the r
2444176 remaining observations, if the incorrect observations are omitted.

44 Vet & T TG BT W 68 UrAT TN &1 A, I8 urdn T {5 IR Doy wed 4, O 12, 15, 19 SR 18 & T H g faa1 77 AT R Nefouif &7 [1ed 1 Hiforg, Ife Tard Jeror oY M gl

73.2
A

73.2

75
B

75

63.5
C

63.5

69.4
D

69.4

Correct Ans : A
Subject : Maths

Q.No: 12
2444186



A shopkeeper sold 90 cold drink bottles out of which some are 1 litre while the remaining are 2 litres. The average volume of all the bottles is 1.6 litres. What is the difference
the number of 1 litre and 2 litres bottles?

TP gHMER A Bics &P 3 90 diadt 3, FH ¥ 39 1 diex 31 § vl Aw 2 dex 31 §1 Tt Sadl 39 siga A6 1.6 dieR &1 1 dex 3R 2 wiex 3t sl @t T & fra o R 82

115
A

115

36
B

36

18
C

18

27
D

27

Correct Ans : C
Subject : Maths

Q.No: 13 The mean of the 7 consecutive integers starting with 'x' is 'a'. What is the mean of 9 consecutive integers that start with (x - 2)?
2444195

'x' Y YE T 9 7 FANIT QUIid &1 W12 *a’ Bl 81 (x - 2) ¥ T B a1 9 HART quifcp! 1 W19 & g2

a+1
A

a+1

a
B

a

a+2
C

a+2

a-1
D

a-1

Correct Ans : D
Subject : Maths

Saazon 2¢cotg ; 1
is equal to:
(1 + cot 8+ cosec 6) 4

2cotb6
(1 + cot 6 + cosec 0)

& TR g

1+ cot B - cosec 6

A
1 + cot 6 - cosec ©
1 - cot B cosec 8
B
1 - cot B cosec B
1 + cosec - cot B
C
1+ cosecB-cotB
1 + cot 8 cosec 6
D

1 + cot B cosec B
Correct Ans : A
Subject : Maths

Q.No: 15
2444207



3 ; :
If cos © =2 what is the value of sin 0. sec 0. tan 6?

I cos O =§B\, ar sin 6. sec 6. tan 0 FT AT AT 7

£4
4

W

&l

w s

w s

Correct Ans : B
Subject : Maths

Q.No: 16 sin5A —cos A
2444218 If sin A = a and cos A =b, then what is the value of(——.)7
: (cos2A —sin24)

(Sin 5A — cos A)
n A= A=ba D ————
?Jﬁ:"'sm aSﬂTcos B‘Fﬁ (cosZA—sinZA)

HT AT b= §?

(3(a + b) - 4(a® + b%))

A
(3(a +b) - 4(a’ +b?))
(3(a+b) - 4(a’- b%))
B
(3(a +b) - 4(a*- b%)
(3(a-b)-4(a°+b%)
C
(3(a-b)-4(a° +b%)
(3(a-b)-4(a°- b))
D

(3(a-b)-4(a°- b%)

Correct Ans : A

Subject : Maths

Q.No: 17 . : : 7 N : : " . 2
2444228 What are the solutions to 12 sin (2x bn) = 6VZ,inthe interval x [0, ] ?

3RICIx ¢ [0, m] H12 sin (2x — 2m) = 6V2 & g I HIRA



—or
4 4
T 3
4 4
17 21
—Tor—T
24 24
B
17 21
a1 3 | el
24 24
17 23
—mor—m
24 24
C
17 23
—ndl=n
24 24
23 27
—Tor—m
24 28
D
23 27
il 3 | i
24 28

Correct Ans : C
Subject : Maths

Q.No: 18 What is x intercept of the line join by the points (4, 3) and (5, 8)?
2444234

fig (4, 3) 3R (5, 8) F NI e aTclt XWT 7 x SA-TS &2

Correct Ans : C
Subject : Maths

Q.No: 19 Find the co-ordinates of the centroid of a triangle whose vertices are (0, 6) (8, 12) and (8, 0).
2444241

By ¥ $eF $ e 70 Siva, e i (o, 6) (8, 12) 3R (8, 0) T

(5-6)



(63)

(6,5)
C

(6,5)

(6,3)
D

(6,3)

Correct Ans : A
Subject : Maths

Q.No: 20 If the are a of the triangle with vertices (x,0), (1,1) and (0,2) is 4 square unit then a value of x is-
2444252

Tfg =it (x,0),(1,1) 3R (0,2) A AYS BT &6 4 T 5HE §, 96 xPT T A G-

-2
A

-2

-4
B

-4

-6
c

-6

8
D

8

Correct Ans : C
Subject : Maths

Q.No: 21 The equation of straight line which passes through the point (1, -2) and cuts of equal intercepts from the axis, is:
2444263

g (1, -2) F ToRA arel qur 3ieff J THH 3ic: TS Hle arcl T T BT TS 3

x+y=1
A
xX+y=1
x-y=1
B
X-y=
x-y-2=0
C
xX-y-2=0
XxX+y+1=0
D
x+y+1=0

Correct Ans : D
Subject : Maths

.No: 22 b
oo If§+ %+ g =1and §+ ot E = 0, where p, q, rand a, b, ¢ are non-zero,

r2

pz qZ
then find the value OfF + Bz + =

Ay 2424l 13ﬂ1§+§+§= 0,581 p, q, r 2T a, b, ¢ R-ET &,

pz q2 72
ar =+ 5+ F AW AT HiSA
a bz " c2



B
0
1
C
1
2
D
2

Correct Ans : C

Subject : Maths

Yamizas Ifa@andBaretherootsofequation 2x’ —(p+x+(p-1)=0. anda-B=«p. then what is the
value of p?

T o« HRB FAROT 26 -(p+Dx+(p-)=0.5F HAF & T a-f=ap a p & AF &I
gem?

1

A
1
2
B
3
c
3
-2
D
-2

Correct Ans : B
Subject : Maths

Q.No: 24
2444303 %, is arithmetic mean of a and b then n = ?
n+1i +bn+1
et a T b FIIAR WA G q n = ?
1
A
1
-1
B
-1
1]
(o]
1]
D
2

Correct Ans : C
Subject : Maths

Q.No: 25



2444313 . N 6 .
The sixth Harmonic mean between 3 and s

3 aﬁ?%%&ﬁﬁ%ﬁwmﬂl?{:

63

120

63
120

63

12

63
12

126
105

126
105

120
63

120
63

Correct Ans : A
Subject : Maths

Q.No: 26 What is the sum of the first 7 terms of a geometric progression whose first term is 1 and 4th term is 8?
2444323

TF UK Aoft & g 7 9Ef T AT T T T g g 1 SfR =l ue 8 87

129
A

129

128
B

128

127
(o]

127

124
D

124

Correct Ans : C

Subject : Maths

Q.No: 27 If P and Q are point on the line joining A(-2, 5) and B(3, 1) such that AP = PQ = QB, then mid point of PQ is :
2444332

e P 3R Q, A(-2, 5) TUTB(3, 1) F e arelt a1 R 39 e A & f5 AP = PQ = QB, @9 PQ FT He fag §:

(2, 3)
A

(2,3)

(1, 4)
B

(1,4)

© ()



Correct Ans : D
Subject : Maths

Q.No: 28 yhich of the following(s) is/are correct?

2444348

fefifed ¥ & $9 W a2

A set of integers A is countable
A

it &1 T A ORI §

A set of Natural numbers A is countable
B

TGRS e BT Tg=T A TR §

A set of rational numbers A is countable
C

ki Gesi @l qg= A TR §

A set of rational numbers A is uncountable
D

Ry Femel 3T 9H=g A SRV §
Correct Ans : D
Subject : Maths

Yo The value of (1 + DS x (1— i)%is

1+ DS X (1— i)5 BIAFG:

-8
A

-8

8i
B

8i

8
C

8

32
D

32

Correct Ans : D

Subject : Maths

Q.No: 30 A and B play a game where each is asked to select a number from 1 to 25. If the two numbers match, both of them win a prize. The probability that they will not win a prize in
2444401 ;) s

A 3R B TF Qa A ¢ ol Ude &1 1 ¥ AR 25 dF Bt Temelt ¥ F e gEm g Al §1 afe S ) e v St ot R, A 9% R e €, ot 1 wterr ¥ qReR 7 ofian 35t wifdewar

1
25
A
1
25
B 24

25



24
25

25

4

25
Correct Ans : B
Subject : Maths

Q.No: 31 "Which of the following is/are type/s of forces in nature?
2443525

1. Gravitational

2. Electromagnetic

3. Nuclear

4. Weak

Choose the correct one.

“Prfied # 3 $F upll # 9l & TER /8?2
1. @Yo

2. faggadaat

3. T

4. TR

g g

1 and 2 only

Faa 1 3R 2
1, 2 and 3 only

Faa1, 29”3
1, 3 and 4 only

Paa 1, 3 3R 4

1, 2, 3 and 4 only

Faa 1, 2,33k 4
Correct Ans : D
Subject : Physics

Q.No: 32 If a projectile is fired with a speed u of an angle © with the horizontal, then what will be its speed (v)
2443526 hen its direction of motion makes an angle « with the horizontal?

afg va vareT &1 &fasT T 1ot 0 FHr AfF u F grew S1ar &, aF 3TH AT (v) =7 gl st 3T afa

&1 feram ST & T HIT o a1 &7
v=ucos O seca
A
v=ucos Oseca
vi=u cos O sec u
B

vi=u cos O sec u

C v=ucos asec O



Vv=ucos asect

v=u’ cos « sec ©

v=u? cos a sec ©

Correct Ans : A
Subject : Physics

Q.No: 33 Nucleus contains about percent of the mass of the atom.
2443527
TE & A S A T AT vfawid g )
92
A
92
75
B
75
99.98
C
99.98
88.9
D
88.9

Correct Ans : C

Subject : Physics

Q.No: 34 "Which of the following equation is also a special case of the work-energy (WE) theorem?
2443530

(where a is acceleration, u and v are the initial and final speeds and s the distance traversed.)

frofarea 8 § F g S-Sl @) T R RS B welkia w82 (67 a @R u auT v HAR: RIS 7 sifqw =1d iR s a%g gR1 9ol 7 g8 )

vi-u? =2as

A
vi-ul =2as
vi+ul =2as
B
vi+ul =2as
v2.ul = 2as
C
va.ul=2as
viu=2as
D
viu=2as

Correct Ans : A

Subject : Physics

Q.No: 35 Which of the following source of energy is most widely used in India?

2443547
Frafiea & 3 17 9 S 1 9 HRd § a9 34f® e w9 F Juan e s 82
Coal
A
P
Nuclear
B
BRI
Hydro
C



D wina

vl
Correct Ans : A

Subject : Physics

Q.No: 36 "For persons a, b and ¢, the image/jpgs formed in their eye has been depicted below in the diagrams-
2443553

Retina Retina
(%) (a)
Retina

(c)

Which of the following statements is correct?
1. Person a needs diverging lens.
2. Person c suffers from short sightedness.

3. Person b does not have any vision-problem."

i a, b 3R ¢ ¥ frg, I sl § 3 el 1 AR Rew T st # it B

% 3’;
(o) [

e

Frafifad ww F A FF T 2

1. SF a B UG AW B SMERAGA 1
2. =i ¢ v < & difsa g1

3. HE b B FE -T2

Only 1 and 2
A

Faa 1 9R 2

Only 2and 3
B

Faa2 3R 3

Only 1 and 3
C

Faa1 3R 3

1,2and 3
D

1,23R3

Correct Ans : C

Subject : Physics

Q.No: 37 Which of the following statements is NOT correct about electric current?
2443556

fagga oR1 & SR F fofafed & & 9 W Fu= a9 T 32

A Current is a vector quantity.



TaGYd HRT U IS I G 1

1C of electric charge is equivalentto the charge contained in nearly 6 x 10!S electrons.

B

1C TacId 3T T 6 x 1018 erargian # fAfga maer & awrar &1

An ammeter needs to be connected in series in an electrical circuit to determine how many amperes of current is flowing in the electric circuit.
C

feae a3 v Tl uRT TaTfed 9 w6t ¥, w6 Puiva 3 & R we dfier @ figge uRay F Sofiew & sher s aiiw

1uA=10°A
D

1puA=10°A

Correct Ans : A

Subject : Physics

Q.No: 38 Which of the following is an insulator?

2443557
Frofifaa & § oH & s 32
Bakelite
A
ApaRe
Aluminum
B
Tegffam
Copper
c
disr
Silver
D
Ei|

Correct Ans : A

Subject : Physics

Q.No: 39  Which of the following is an example of Newton’s second law of motion?

2443566

R 2 A B e & TR % TR B P SaRy 22

When a bus stops passengers standing in the bus fall in the forward direction.
A

Ve U S Fhdl § A 79 7 @S g o Y fewn d AR o #)

A person gets hurt when he falls on a cement floor.
B

e & v R IR W oo =i &1 i o 81

When a person jumps out of a boat, the boat moves in the opposite direction.
C

T P AR 1T Y Fea B, @ =9 Aot o & =t 81

During swimming we push the water in the backward direction, with our hands and feet, to move in forward direction.
D

AT & IRA o B 3 7 o F R 7 uF B om Bt ok A A NS A R A e 3] 7

Correct Ans : B

Subject : Physics

Q.No: 40 According to Newton’s third law of motion, mark the correct option.
2443583
1. Action and reaction act on different bodies and so they can be cancelled out.

2. The internal action and reaction forces between different parts of a body do, however, sum to zero.

A P TR P AW aH B AR el Aoy o1 7w B
1. foran @ wiaforan 3@ < firg fivst R 1l SR §1 o 4 99 U@ gk 3 AR R 99 7
2 quift, fredt g # siaRe fear qur wfafar soif @1 i o@wa & 9 gl §

A 1 only



Fad 1

2 only
B
Fad 2
Both 1 and 2
C
qFf 1 9k 2
Neither 1 nor 2
D

T 1 dRTE 2
Correct Ans : B

Subject : Physics

Q.No: 41 Which of the following equations is the correct representation of momentum?
2443585

[mass m and velocity v and momentum is denoted by p of the body]

e & § o1 a1 wiiexo gan &1 wd Fea 82
%8 & SomM m 3R A v 3R Fa7 9 p gR1 e far T 1)

p=m/v
A

p=m/v

p=v/m
B

p=v/m

p=mv
[of

p=mv

p = m-v
D

p=m-v

Correct Ans : C

Subject : Physics

Q.No: 42 Which of the following has the correct value of 1 unit of Work/Energy in J?
2443588

e & § frwe 1 § Srl/Saf @1 1 TEE &1 9E a1 82

1 erg = 1047
A

1317 = 1047

1 electron volt (eV)=16x101°7J
B

1 SIeFETe dlec (eV) = 1.6 x 1019 ]

1 calorie (cal) =1.1867J
C

1 FoiY (cal) = 1.186 7

1 kilowatt hour (kWh) = 3.6 x 104 7J
D

1 freliaTe-ger (kWh) = 3.6 x 104 J
Correct Ans : B

Subject : Physics

Q.No: 43 A dog can hear sound of frequency up to about-
2443600

T Pl AT et g B @ G qebal 82
A 50 kHz



50 kHz

60 kHz
B

60 kHz

70 kHz
C

70 kHz

80 kHz
D

80 kHz

Correct Ans : A

Subject : Physics

gﬁ; 54143 Which of the following represents the critical angle of a medium(), for light going from the medium to
the air? (Given p>=1 and py= p)
T I & leT ATCIA Q a7 H SToT 1ot Teh1eT & foTT 37 ATCIA & shifdd o1 (0,) &7 Ifafafeca
warg? (A a—m & po=1 3R = p)
6: =sin!
A
6 =sintp
6c = sin! (1/p)
B
6. =sin! (1/p)
6c = cos ! (1/p)
o
6c =cos! (1/p)
6. =sin (1/p)
D
6c =sin (1/p)

Correct Ans : B
Subject : Physics

Q.No: 45 SI unit of power of lens is:
2443615

A T ST BT TH. TS, A o

m
A

m

m-!
B

m-!

m-2
o]

m-2

m-3
D

m-3

Correct Ans : B
Subject : Physics

Q.No: 46 Which of the following waves is/are longitudinal?
2443617
1. Light waves



2. The wave on a string

3. Sound waves

Fofifed & 4 o @ a0 s ¥/82
1. U A

2. & GR R TR

3. afy

Only 1

Faa 1
Only 1 and 2

Paq 1 iR 2
Only 3

&ad 3
1,2and 3

1,23R3

Correct Ans : C

Subject : Physics

Q.No: 47 The dimension of speed is-
2443625

Y BT S B-

LT!

LT!
LT?

LT?

LT

LT
LT3

LT3
Correct Ans : A

Subject : Physics

Q.No: 48  \What is JC! a unit of?

2443645
JC faenT ATAF &7
Potential
A
fva s
Current
B
HYRT BT
Resistance
C
TR FT
Charge
D
1A BT

Correct Ans : A

Subject : Physics



Q.No: 49

2443648 The force of atraction (F) between two particles having masses m; and m; is given by . (If ris the

distance between them and G is a universal constant)

m, 3R m, SEAAT arer € HUIT & & HTHYOT & (F) AT g ST g @ r3ad dra drgli g
3R G e e Aadis 8)

37711"13

re

UL

r2

Gt

r

myns
G2
-

G.mimar?

G.mimar?

GMame
r3

Gm 1Ma
r3

Correct Ans : A

Subject : Physics

Q.No: 50 In case of total internal reflection, the entire light is back into the medium.
2443658
quf siiafke WRIad= & T §, wor gl BIR aud s § o 9 8
reflected, first
A
Rk, T
reflected, second
B
Wk, faca
refracted, first
c
fafia, wuw
refracted, second
D

e, fedfa
Correct Ans : A

Subject : Physics

Q.No: 51  The surfaces of a lens maybe -
2443659

1. Both convex

2. Both concave

3. One convex and one concave

TS o B! g -

1. GHI 39 B T4 ©

2. SFff raad & I B

3. T IT IR UF Sfaqd & FHd 3
Only 1

Faa 1
B Only 2



Faq 2

Only 2 and 3
cC
Faa 2R3
1,2and 3
D
1,23R3

Correct Ans : D

Subject : Physics

Q.No: 52 1 Light Year means -

2443675
1 v a 1 3 §
9.46 trillion km
A
9.46 fefer faedt
7.46 trillion km
8 7.46 e ot
5.86 trillion km
C
5.86 fefer fadt
6.86 trillion km
D

6.86 fefer faeit

Correct Ans : A

Subject : Physics

Q.No: 53 On the Kelvin scale, the melting point of ice is-
2443680

Pier T R, 96 31 TS §-
0K

0K
100K

100 K
173 K

173K

273 K

273K
Correct Ans : D

Subject : Physics

Q.No: 54 Soundproofing materials -

2443691
afRidt g -
Reflect sound waves

A
afy T 1 uioffed Fwd §
Refract sound waves

B
afy al B erakfa s §
Absorb sound waves

Cc

a7 oaifta S §

D Dissolve sound waves



f T B T FR
Correct Ans : C

Subject : Physics

Q.No: 55 Which of the following statements is incorrect?

2443705
frfefaa # § S O1 HuF TTed 32
The current produced by a battery is DC (Direct Current).
A
328 I Fieper arht o R uRT SR 31
The current that flows out from the switch points at homes is AC (Alternating Current).
B
i ¥ e uige & 757 aref yRT vt oRT Bkl 31
Devices like electric motor that work on DC are stronger than those that use AC.
C
Ry 41 @ T arer Rigganier S g, Wad 4R a1 T @t g H Helgd 3R QRS 9 §
People who accidentally come in contact with AC are flung afar.
D

S RT TRt | Tenadf 4RT & b 7 o o § & fyew R R AR WM §1

Correct Ans : C

Subject : Physics

Q.No: 56 The amount of light entering the eye may be controlled by varying the aperture of the pupil with the help of
2443717

3@ 31 gaeht ulkadf grRe @t Hifa o sl § PR e &) o T | q&el S Hhd gl
Cornea
A
i
Iris
B
ufaieT
Retina
C
eRuea
Aqueous humour
D

eI

Correct Ans : B

Subject : Physics

Q.No: 57 What is the shape of the electromagnet that is used in an electric-bell?

2443766
fagga-4et & vy g At fagga grae 1 oipfa Bl gl 82
Bar-shaped
A
TR F PR FT
Cylindrical shaped
B
ATNHR HBR
Ring-shaped
C
TG & PR FT
U-shaped
D
-3IPR

Correct Ans : D

Subject : Physics



Q.No: 58 "Which of the following is/are conservative force/s?

2443781
1. Force of gravity

2. Coulomb force
3. Force of spring

Choose the correct code"”

frgfefed & & -T2 Wi 5 3/

1. TAHY q¢
2. o g4

3. RBm s
Only 1

Faqa 1
Only 1 and 3

Faa 1IR3
Only 2and 3

Faa2 R 3
1,2and 3

1,23R3
Correct Ans : D

Subject : Physics

Q.No: 59 Which of the following is not a limitation of generation of wind energy?

2443829
frafaf@a & § &1 v Sof & I 3t W T8 §2
They are hazardous for wildlife.
A
3 71 ofte % g T B
Wind-mills are always unsightly and damage the scenic beauty.
B
- FAR 1S B § IR Urpfie Yawar B 3H9 Uge 8
Wind power is not available all the time.
C
T el 6% I SUAR T ¢
Wind farms can be noisy.
D

U B 3% IR IR IR 994 8

Correct Ans : B

Subject : Physics

Q.No: 60 "In a Galilean Telescope a
2443840
A. Convergent

B. Divergent

Choose the correct code:

"Tefifer eefepi & 0

T, SR
B. 3OOt
T dE A "

A A

lens is used as the objective and a

A &1 Iy Sfifwae & w9 7 fbar o € ok ue

lens is used as the eye-piece.

A 1 IgE A F w9 A e Sar 21



B, B
Correct Ans : B

Subject : Physics

Q.No: 61 ‘Heating a china dish containing copper powder makes the copper powder become coated with a black substance.” Which of the following equations is a correct translation of t
2443735 gtatement?

e & TINER ¥ R TP At 7 3 T DA | di ol USSR} TE did ugrd S0 Y Aftd g o 21 Fofifa & ¥ o a1 wHisku T3 37 9 T 87
2Cu + 02 - 2Cu0

A
2Cu+ 0; - 2Cu0
CuO+H;— Cu+H:0
B
CuO +Hz— Cu+ H:0
CuO +Hz - Cu+ H;0O
¢
CuO + Hz - Cu + H.0O
2Cu+ 0, -»2Cu0 + O3
D
2Cu+ 0,-2Cu0 +0;

Correct Ans : A

Subject : Chemistry

Q.No: 62 "Which of the following is true?

2443738
1. Hydrogen ions in HCI are produced in the presence of water.
2. Hydrogen ions can exist alone.

Choose the correct code:"

Pl 7 & F9 o w82

1. HCI & §T3SIoM S i &1 Jufdfa & s7d 81
2. BIZSISH 3T 3fdl 7§ Thd &

TR P A"

Only 1

Fad 1

Only 2

Faq 2

Neither 1 nor 2

Td 1 @R 2
Both

3t

Correct Ans : A

Subject : Chemistry

Q.No: 63 Where can we find Methanoic Acid in nature?
2443739



UepTd H HYAIRSD 3fRT el Urd] Wildl g7

Vinegar
A

Rt

Sour Milk
B

g

Ant sting
(o]

& 1P

Tamarind
D

et

Correct Ans : C

Subject : Chemistry

Q.No: 64 Just like halogens, _______ also exists as diatomic molecules and it combines with metals and non-metals to form covalent compounds.
2443748
oA At wRe, ) RoRme sk & wu A dieg § oIk ¥g wrgail 3R sl & Wiy e weddee dife s 81
Oxygen
A
ffefterT
Nitrogen
B
ARG
Carbon
c
P
Hydrogen
D
LESEE]

Correct Ans : D

Subject : Chemistry

Q.No: 65 Which of the following has not been concluded by Rutherford from the a-particle scattering experiment?
2443753

IEWIE R a-H01 Yt i & Fofafed & @ o a1 frsed =18 o mr g2

The positive charge of the atom occupies very little space.

A
TR BT ATHE AT S5 HH VM TRal
All the positive charge and mass of the atom were concentrated in a very small volume within the atom.
B
AT & T GHTHD AR 3R S0 WA & iR S5 B a1  Higa A
Most of the space inside the atom is empty.
C
TR & 3feR BT SifRIpiR RIF Felt & g1
The atom is indivisible and indestructible.
D

TRAY] TS 3R =i B
Correct Ans : D

Subject : Chemistry

Q.No: 66 Which of the following reactions produce insoluble salts?

2443795
Frofafea & § o G ufafar sifaek aau Iad axdt 82
Oxidation

A
Eicticau



Decomposition

e
Reduction
C
FH
Precipitation
D

Bl

Correct Ans : D

Subject : Chemistry

Q.No: 67 solution is a purple dye, which is extracted from lichen, a plant belonging to the division Thallophyta, and is commonly used as an indicator.
2443796

oot ST T R, R AdieTger T @ Seila O, agde 9 Forer o 8, SR SR W U@ Yahad & &9 § STanT 1 S 21

Litmus
A
s
Phenolpthalein
B
fprerdfer
Methyl orange
C
Torerer R
Iodine
D
SRNSH

Correct Ans : A

Subject : Chemistry

Q.No: 68 What is denatured alcohol?

2443805

T seplea a1 &2

The mixing of colour and methanol to ethanol for the purpose of industrial use
A

Sehfire IudiT & SExa & TG & A1 SR Ayt o1 fasn

It is formed when alcohol reacts with oxygen
B

T T ST § V9 SeH e ST 3 W Wil w8

The product of ethanol reacting with concentrated sulphuric acid
C

AT &1 IE HTa TerRe RIS &y niafra Fwa @

The product of alcohol reacting with sodium
D

WfEan S Ty vl 39 T sehigd ST SdG

Correct Ans : A

Subject : Chemistry

Q.No: 69 According to the modern periodic table, which of the following is not a metalloid or semi-metal?

2443808
yfe oad TRl & ogER, Ffafad § § $H-u1 Iurg a1 sif-urg = 82
Boron
A
Eilet
Silicon
B
Rttt

C Arsenic



T
Sulphur

W

Correct Ans : D

Subject : Chemistry

Q.No: 70
2443821

Which of the following was the first fully synthetic fibre?

PR & & veaT quf SRaR Y B 1

Rayon

Euic

Cotton

Wool

Nylon

o

BIRCIGE

Correct Ans : D

Subject : Chemistry

Q.No: 71
2443857

Which of the following is correct?

[EERE ke & i)

Mass number = number of protons

SO WS = WerH 31 e

Mass number = number of protons + number of neutrons

SHAH & = Wl 31 9 + g 31 geT

Mass number = number of neutrons

SHAM T = G Bt T

Mass number = number of protons + atomic number + number of neutrons

SHHH U = el $1 We + URANY HHISb + gl ol e

Correct Ans : B

Subject : Chemistry

Q.No: 72
2443867

"Hydrogen bonding is responsible for which of the following unusual property/ies of water?
1. Its existence in liquid state over a wide range of one hundred degrees (273 K to 373 K).
2. High heats of fusion and vaporization

3. Its solid form (ice) being heavier than liquid water.

Choose the correct code:

"gIZSIoM Sy o & Fmfiied # ¥ 59 srnuror qu/eR & e SwRerh 22
1. 98 (273 K ¥ 373 K) & 9l {3 & G & 5a sa=n § §iar 31

2. 599 I i iR v Fw

3. 3THI 3 ¥ (TiF) TR It F 4 & B

e BIS g

Only 1 and 2



Faa 1 3R 2

Only 2 and 3
B

Faa2 3R 3

Only1and 3
C

Faa 1 3R 3

1,2and 3
D

1,23R3

Correct Ans : A

Subject : Chemistry

Q.No: 73 What is the colour of the white silver chloride when it is placed in direct sunlight?
2443884

The ek FRTEs 31 Al 4u § @ R STD1 1 91 Sl 87

Green
A

Gy

Grey
B

i

Brown
C

EIcy)

Black
D

Eac

Correct Ans : B

Subject : Chemistry

Q.No: 74 Which one of the following is the general formula of Alkenes?

2443890
Frafifaa ¥ 9 S1F-91 T (Alkenes) T THIRT I 82
CuH,
A
C,Hn
CuHon
B
CoHn
CnHonn
c
CoHonn
CoHon->
D
CoHon-2

Correct Ans : B

Subject : Chemistry

Q.No: 75 Why did Rutherford select a gold foil for his experiment of finding the model of an atom?
2443897

ISP & TR HiSA WA F AT WA & forg 6 &1 w=h &1 aa /il fane

A As it is ductile



AP AR aIT

As it is a noble metal

B
> 78 TP SPE U &
As it is lustrous

C
i 75 TR §
As it is thin

D
i Tg Tae

Correct Ans : D

Subject : Chemistry

Q.No: 76  Which of the following is an example of Toggle Keys?

2411920
iR & § FH-1 T F BT TP TR 22
Shift
A
R
Alt
B
3ffec
Scroll Lock
C
ol die
Ctrl
D
P

Correct Ans : C

Subject : Technical Aptitude

Q.No: 77 is not an example of object-oriented programming language.
2411921

__ Sifside-3liRges i G Bl SeeRu A g

FORTRAN

A
BIREIT (FORTRAN)
Java

B
W4l (Java)
Python

C
UIgYH (Python)
Ruby

D
= (Ruby)

Correct Ans : A

Subject : Technical Aptitude

Q.No: 78 In a Flowchart, shaped boxes are used for 'Start' or 'End' command.
2411932

W N, PR & siad 'Start' a1 'End’ FHIS ¥ forg Iudnt g S B

Oval
A

Ercard

Rectangular



Diamond

SOHS 3HR

Hexagonal

HEHYSTPR
Correct Ans : A

Subject : Technical Aptitude

Q.No: 79 is a small piece of text sent to your browser by a website you visit.
2412177

9P ERT TH T Il JSAIET GRT 3TF FPOR W W MY TR BT TP BT 34
!

Bot

e

Java Script

St fepe

Cookie

il

Candid

Fiss

Correct Ans : C

Subject : Technical Aptitude

Q.No: 80 is used to implement the parts of the app in C++ native code.
2412415

_ HI3Wm W E 7S WA B C++ AT FIs A ar FA F g fovan s g1

JNI
A

JNI

SDK
B

SDK

NDK
Cc

NDK

SNI
D

SNI

Correct Ans : C

Subject : Technical Aptitude

Q.No: 81 Which of the following statement/s is/are True about Routing Information Protocol?
2415949

Frofafea # @ sF-91/3 $u I8 TR e ¥ IR 8§ 99 §/8?

It is a distance-vector routing protocol

A
g & gligd-aaes e Nelsla §
It can be used to configure the hosts as part of a RIP network.
B
TP ITAFT BIRE FI RIP ead & R & w0 & SRpR 0 & g fwan o1 wwar 31
This type of routing requires little maintenance.
C

T UBR F TSR & T FH TREE I SRS i 7



D All of the given options

fu Mo e

Correct Ans : D

Subject : Technical Aptitude

Q.No: 82  Which of the following is not used as an input device?

2415963
Frofafea ¥ § s Ium 3qe 3oy % w0 i T s o 32
Plotter
A
wWieX
Optical Character Reader
B
afifbera aex st
Magnetic Ink Character Reader
C
AT % BT qs%
CRT Screen
D
GICIGE RG]

Correct Ans : A

Subject : Technical Aptitude

Q.No: 83 RTP is a network protocol for delivering audio and video over IP networks. What is 'R' in RTP short for?
2415979

RTP, IP Jead R 3fsdl ol difsdl ugam aren & Jead Wersid g1 RTP & 'R' &1 gof &9 @1 82

Reference
A
Reference
Real-Time
B
Real-Time
Raw
C
Raw
Record
D
Record

Correct Ans : B

Subject : Technical Aptitude

Q.No: 84 Which of the following term refers to the physical human characteristics to that can be used to digitally identify a person?
2415982

Fofifaa ¥ § oF- v NRe ardy fdvast @1 Geifa s 8 Rrre suam i afd o1 3fea wu S vgamm ¥ R s awa g2

Wearables
A

e

Biometrics
B

e

Artificial Intelligence
C

ifefpRaa i

Graphical User Interface
D

THd TFR TRBA
Correct Ans : B

Subject : Technical Aptitude



Q.No: 85 In which among the following network, Communication channel is shared by all the machines on the network?
2420782

Frofefea & § fow Aead # TR 390 Jead R wft w=iET R wwRn & o g

Multicast Network

A
TRIBRE FeaH
Unicast Network
B
PR Jeadh
Point-point Network
C
Broadcast Network
D

sfsare Yead

Correct Ans : D

Subject : Technical Aptitude

Q.No: 86 Which of the following protocol was succeeded by HTTP?

2420810
Frufefea & § 5w Weeia 3 HTTP &1 ®iM i ur?
Datanet
A
M
WAIS
B
49 (WAIS)
Telnet
c
e
Gopher
D
TMHT

Correct Ans : D

Subject : Technical Aptitude

Q.No: 87 1 ook at the table carefully and chose the appropriate operator for #

2443958
A | B | A#B
o | o 1
0 1 0
1 0 0
1 1 0
aifeesT &1 wges eaad & AR & & v 39wy das & g4
A | B |a#B
o | o 1
0 1 0
1 0 0
1 1 0
EX-OR
A
EX-OR
EX-NOR
B
EX-NOR

C NOR



NOR
NAND

NAND

Correct Ans : C

Subject : Technical Aptitude

Q.No: 88 The basic building block of a counter is -

2443960
et PRieR &1 g Fiior g (afe R’ safe) o &2
OR gate
A
OR e
Flip - Flop
B
foRerg-reit
Ex - OR gate
C
Ex-OR 7T
AND gate
D
AND

Correct Ans : B

Subject : Technical Aptitude

Q.No: 89 The term ECL stands for:

2443961
W% ECL &1 fasga & a1 82
Electron Coupled Logic
A
FARI PO e
Emitter Coupled Logic
B
TR Hcs i
Enhanced Charged Logic
C
TS =S aiios
Extra Capacitance Logic
D

TG HURRY dfe
Correct Ans : B

Subject : Technical Aptitude

Q.No: 90 In a 1 to 4 De-multiplexer, how many select input lines are required?
2443963

194 TP & IguPd U 1 b Tad 39 W19 &1 TGS Bl 87

2
A

2

3
B

3

4
C

4



5
Correct Ans : A

Subject : Technical Aptitude

84’1"3: 95;1 , Simplified Boolean Expression for (x +y) (x + J) is:
(x + y) (x +3) & e v T @) g AT
xy

A
xy
Xy

B
Xy
x

c
x
v

D
y

Correct Ans : C

Subject : Technical Aptitude

Q.No: 92 Conformal coating is done in PCB assemblies to-

2443968
3., T § BB () BT (sMavr) frads frg foran S @2
Improve strength
A
iR P 9gH & g
Protect electronics form Moisture and contamination
B
fgarda Sumul @t T iR dgww & T ¥ R
Increase withstanding voltage
C
WRY diee (RyamR) & 91 & R
Improve aesthetics
D

TR F 75 & g
Correct Ans : B

Subject : Technical Aptitude

Q.No: 93 A 12 bit ADC is used to convert the analog voltage of 0 to 10V into digital. The resolution is -
2443969

09 10 V ¥ T A @1 f3fea A uftafda 33 & e 12 fie & ¢, &1 3w s s 31 < YoiegzE @ 82

1.2 mV
A

1.2 mV

2.44 mV
B

2.44 mV

24.4 mV
C

24.4 mV

2.4 mvV
D

2.4 mV

Correct Ans : B

Subject : Technical Aptitude



Q.No: 94 What kind of filter can be used to select a signal of one particular radio station?

2443995

forelt fadr Xl R & Ry &1 g7 & R o ke & fpeex 1 gxawe b o e @2

Band pass
A

I3 RS

Band stop
B

Ys =i

Low pass
C

i aRe

High pass
D

9 URS

Correct Ans : A

Subject : Technical Aptitude

%&%99957 Calculate the minimum sampling rate to avoid aliasing when a continuous-time signal is given by x(t) = 3
cos 400mt
g T AR GHT R7aeT x(t) = 5 cos 400m e@RT 2T 127 &, &Y 39ges &1 IRasi it & forw
RFAAH Ff=is &3 &Y 0T HIfTT
100 Hz
A
100 Hz
250 Hz
B
250 Hz
400 Hz
C
400 Hz
20 Hz
D
20 Hz

Correct Ans : C

Subject : Technical Aptitude

Q.No: 96 A scheme in which several channels are interleaved and then transmitted together is known as
2444002

39 YOI &I T Fgl il § SR B Al ol sfavafa fvar o € SR R uwery vt i S 2

Frequency division multiplexing

A
ey fsrem Sguda
TDM
B
TDM
A group
c
U g
A super group
D

TH IR 98
Correct Ans : A

Subject : Technical Aptitude

0O.Na: 97



2444014 Match the following

a) P-N )
Jurllctlon . N .
diode LAl
b) Zener L
diode N
v
c) iii}}
Schottky N
diode L1
d} iv)
Tunnel NI
diode L]
fFrafafaa @1 fiem Fifo:
a) P-N i)
STarled o NI o
SRS L
i)
b) IR

c) iii)
THRICHT N
SRS L1
d) eeter [l)_]
SRS L1

a-iii, b-iv, c-ii, d-i

A
a-iii, b-iv, c-ii, d-i
a-iii, b-ii, c-i, d-iv
B
a-iii, b-ii, c-i, d-iv
a-i, b-ii, c-iii, d-iv
c
a-i, b-ii, c-iii, d-iv
a-ii, b-iii, c-iv, d-i
D

a-ii, b-iii, c-iv, d-i
Correct Ans : B

Subject : Technical Aptitude

Q.No: 98 The frequency of rectified A.C. of a full-wave rectifier is:
2444015

T qui-adT fRpeRY & Rifdwd AC &1 srafiy @ €t &2

The same as the supply frequency

A
Sy anqRy & wwr B &
Twice the supply frequency
B
3t amafer a8 S At &
Zero
C

T



D U

STaff emgfy it omeht SR ¥

Correct Ans : B

Subject : Technical Aptitude

Q.No: 99 What does the term "Bias" mean?

2444017
g "atfFfar &1 oref @@ 22
The ratio of majority and minority carriers
A
TEED AR TS AED BT AT
The amount of current across the P-N junction
B
P-N SaM W YRT 3 7R
A d.c. voltage applied across the P-N junction to control its operation
C
YD Wihar &) FEfa $39 & R1Y P-N Sa R 9 & d.c. Qe
None of the given options
D

fag T et & § 1S T

Correct Ans : C

Subject : Technical Aptitude

Q.No: 100 A transistor (BIT) is a operated device.
2444019
TP ¢ifReR (BIT) TH Faferd SuERI 71
Current
A
YRT
Voltage
B
e
Both voltage and current
C
dree SR urRT @
None of the given options
D

fRu T Rped! # P &

Correct Ans : A

Subject : Technical Aptitude



